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QUESTION 1

Server Name Indication (SNI) is required when . (Choose the correct option to complete the sentence.)
A. TLS 1.1/1.2 is enabled exclusively

B. a SAN extension certificate is used

C. multiple certificates are used on multiple domains on the same VServer

D. configuring a content switching SSL VServer with a single domain certificate

Correct Answer: C

QUESTION 2

Scenario: A web server needs to be load-balanced but the content for the web page is retrieved from different server
pools. There is a server pool for images, another for text files, and another for documents.

Which NetScaler feature would allow a user to retrieve content from all pools through a single IP address by leveraging
the ability of NetScaler to forward traffic based on the incoming request?

A. Load Balancing

B. Content Filtering

C. Content Switching

D. Global Server Load Balancing

Correct Answer: A

QUESTION 3

Which service setting would a NetScaler Engineer use in the command-line interface to limit connections to server
resources?

A. -maxReq

B. -maxClient

C. -monThreshold
D. -maxBandwidth

Correct Answer: B

QUESTION 4
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While binding a certificate key pair where the key is a 2048-bit, a NetScaler Engineer receives the following
error message:

"Certificate with key size greater than RSA512 or DSA512 bits not supported"”

What could be causing this error?

A. The certificate being used is invalid.

B. The license file is saved in UTF-8 format.

C. The NetScaler does NOT have an SSL offloading card.

D. The NetScaler appliance does NOT have an appropriate license.

Correct Answer: D

QUESTION 5

Scenario: A network engineer has created and bound an UDP-ECV monitor to identify the status of a UDP service.
However, no matter what the response is, the service is always marked as UP.

A possible cause of this behavior is that the network engineer . (Choose the correct option to complete the
sentence.)

A. forgot to add a receive string

B. added the string ns_true as receive string

C. added a string that is invalid and thus skipped

D. added a string that is always part of the UDP handshake

Correct Answer: A
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